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RESEARCH METHODOLOGY

Maximum Marks : 50

Note : Each question carrying 2 marks.

Q. 1. The research in which we find a solution for an

immediate problem facing a society is called :

(a) Fundamental research

(b) Applied research

(c) Qualitative research

(d) Conceptual research

Jen MeesOe efpemeceW nce meceepe kesâ meeceves Skeâ leelkeâeefuekeâ

mecemÙee kesâ nue keâes Øeehle keâjles nQ, keâes keânles nQ :

(De) ceewefuekeâ MeesOe

(ye) DevegØeÙegkeäle MeesOe

(me) cee$eelcekeâ MeesOe

(o) JewÛeeefjkeâ MeesOe

Q. 2. Which of the following is not a typical objective of

research ?

(a) To describe phenomenon or situation

(b) To explain the causes and effects of a

phenomenon

1

(c) To predict future trends or outcomes

(d) To promote personal opinions.

efvecveefueefKele ceW mes keâewve-mee Skeâ MeesOe keâe meeceevÙe GösMÙe veneR

nw ?

(De) Iešvee Ùee efmLeefle keâe JeCe&ve keâjvee

(ye) Iešvee kesâ keâejCe Deewj ØeYeeJe keâe JeCe&ve keâjvee

(me) YeefJe<Ùe kesâ ®PeeveeW Ùee heefjCeeceeW keâer YeefJe<ÙeJeeCeer keâjvee

(o) JÙeefkeäleiele jeÙe keâes yeÌ{eJee osvee

Q. 3. If we denote :

(i) Formulation of research problem

(ii) Extensive literature survey

(iii) Preparation of research design

(iv) Preparation of report

(v) Generalization and interpretation

(vi) Collection and analysis of data

Arrange the above in correct order regarding the

research process :

(a) (i), (ii), (iii), (iv), (v), (vi)

(b) (i), (ii), (iii), (vi), (v), (iv)

(c) (i), (ii), (iii), (v), (vi), (iv)

(d) (iv), (vi), (v), (ii), (i), (iii)

Ùeefo nce efve™efhele keâjW

(i) mecemÙee keâe met$eerkeâjCe

(ii) JÙeehekeâ meeefnlÙe meJex#eCe
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(iii) MeesOe DeefYekeâuhe lewÙeej keâjvee

(iv) efjheesš& lewÙeej keâjvee

(v) meeceevÙeerkeâjCe SJeb JÙeeKÙee

(vi) mecebkeâeW keâe mebkeâueve leLee efJeMues<eCe

MeesOe Øeef›eâÙee kesâ Devegmeej Ghejeskeäle keâe mener ›eâce nw :

(De) (i), (ii), (iii), (iv), (v), (vi)

(ye) (i), (ii), (iii), (vi), (v), (iv)

(me) (i), (ii), (iii), (v), (vi), (iv)

(o) (iv), (vi), (v), (ii), (i), (iii)

Q. 4. We denote the following in context of

participatory research

(I) : It is collective process of inquiry

(II) : Its sole purpose is the production of

knowledge

Which of the following options is/are true ?

(a) Only I is true

(b) Only II is true

(c) Both I and II are true

(d) Neither I nor II is true

menYeeieer MeesOe kesâ mevoYe& ceW efvecveefueefKele keâes nce efve™efhele

keâj jns nQ

(I) : Ùen pee@Ûe keâer meecetefnkeâ Øeef›eâÙee nw~

(II) : Fmekeâe Skeâ cee$e GösMÙe %eeve keâe Glheeove nw~

efvecveefueefKele efJekeâuheeW ceW mes keâewve mee efJekeâuhe melÙe nw/

nw ?

(De) kesâJeue I melÙe nw~

(ye) kesâJeue II melÙe nw~

(me) I leLee II oesveeW melÙe nQ~

(o) ve lees I ve ner II melÙe nw~

Q. 5. A doctor studies the relative effectiveness of two

drugs of dengue fever. His research would be

classified as :

(a) Case study

(b) Ethnography

(c) Descriptive survey

(d) Experimental research

Skeâ efÛeefkeâlmekeâ [Wiet yegKeej keâer oes oJeeDeeW keâer meehes#e

ØeYeeJeMeeruelee keâe DeOÙeÙeve keâjlee nw~ Gmekesâ MeesOe keâes

efvecveJeled Jeieeake=âle efkeâÙee peeÙesiee :

(De) kesâme mš[er

(ye) ve=JebMe efJe%eeve

(me) JeCe&veelcekeâ meJex#eCe

(o) ØeÙeesieelcekeâ MeesOe

Q. 6. The process not needed in experimental research

is :

(a) Manipulation and replication

(4)

W-135(B) P.T.O. W-135(B)



(5) (6)

(b) Reference collection

(c) Observation

(d) Controlling

ØeeÙeesefiekeâ MeesOe ceW efkeâme Øeef›eâÙee keâer DeeJeMÙekeâlee veneR nw ?

(De) nsjhesâj Deewj Øeefleke=âefle

(ye) meboYe& meb«en

(me) DeJeueeskeâve

(o) efveÙebef$ele keâjvee

Q. 7. Which of the following research designs

examines the relationship between two or more

variables without manipulating them ?

(a) Exploratory design

(b) Descriptive design

(c) Experimental design

(d) Correlational design

efvecveefueefKele ceW mes keâewve-mee MeesOe DeefYekeâuhe oes Ùee oes mes

DeefOekeâ ÛejeW kesâ yeerÛe GveceW efyevee nsjhesâj kesâ mebyebOe keâe hejer#eCe

keâjlee nw ?

(De) JÙeeKÙeelcekeâ MeesOe DeefYekeâuhe

(ye) JeCe&veelcekeâ MeesOe DeefYekeâuhe

(me) ØeeÙeesefiekeâ MeesOe DeefYekeâuhe

(o) menmebyebefOele DeefYekeâuhe

Q. 8. Which of the following sampling methods is

based on probability ?

(a) Quota sampling

(b) Judgement sampling

(c) Convenience sampling

(d) Stratified sampling

efvecveefueefKele vÙeeoMe& efJeefOeÙeeW mes keâewve–mee ØeeefÙekeâlee hej

DeeOeeefjle nw ?

(De) keâesše vÙeeoMe& efJeefOe

(ye) efveCe&Ùe vÙeeoMe& efJeefOe

(me) megefJeOee vÙeeoMe& efJeefOe

(o) mleefjle owJe vÙeeoMe& efJeefOe

Q. 9. By the classification of students on the basis of

rural and urban, the data obtained is :

(a) Quantitative data

(b) Nominal data

(c) Ranked data

(d) None of the above

Úe$eeW kesâ «eeceerCe leLee Menjer kesâ ™he ceW JeieeakeâjCe mes Øeehle

mecebkeâ nw :

(De) heefjceeCeelcekeâ mecebkeâ

(ye) veeefcele mecebkeâ
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(me) ›eâefcele mecebkeâ

(o) Ghejeskeäle ceW mes keâesF& veneR

Q. 10. Which one of the following is not a secondary

data ?

(a) Papers and Journals

(b) Reports of commissions

(c) Census report 2020

(d) Data obtained by direct personal investigation

efvecveefueefKele ceW mes keâewve–mee efÉleerÙe mecebkeâ veneR nw ?

(De) meceeÛeej–he$e SJeb heef$ekeâeDeeW Éeje Øeehle mecebkeâ

(ye) DeeÙeesie keâer efjheesš&dme Éeje Øeehle mecebkeâ

(me) peveieCevee efjheesš& 2020 Éeje Øeehle mecebkeâ

(o) ØelÙe#e JÙeefkeäleiele MeesOe mes Øeehle mecebkeâ

Q. 11. Classification of families according to the number

of children is :

(a) Qualitative

(b) Quantitative

(c) Chronological

(d) Geographical

yeÛÛeeW keâer mebKÙee kesâ Devegmeej heefjJeejeW keâe JeieeakeâjCe nw :

(De) iegCeelcekeâ

(ye) mebKÙeelcekeâ

(me) keâeue›eâceevegmeej

(o) Yeewieesefuekeâ

Q. 12. In a manifold table, we have data on :

(a) One characteristic

(b) Two characteristics

(c) More than two characteristics

(d) More than one characteristics

Skeâ yengiegCeer meejCeer ceW nceW mecebkeâ Øeehle nesles nQ :

(De) Skeâ efJeMes<elee kesâ

(ye) oes efJeMes<eleeDeeW kesâ

(me) oes mes DeefOekeâ efJeMes<eleeDeeW kesâ

(o) Skeâ mes DeefOekeâ efJeMes<eleeDeeW kesâ

Q. 13. For showing the growth of population for the last

8 years, the best diagram is :

(a) Cube diagram

(b) Rectangular diagram

(c) Simple bar diagram

(d) Pie

efheÚues 8 Je<eeX keâer pevemebKÙee Je=efæ keâes oMee&ves nsleg meyemes DeÛÚe

efÛe$e nw :

(De) Ieve efÛe$e

(ye) DeeÙeleekeâej efÛe$e

(me) mejue oC[ efÛe$e

(o) heeF& efÛe$e
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Q. 14. Which one of the following can be found from a

Histogram ?

(a) Arithmetic mean

(b) Geometric mean

(c) Median

(d) Mode

Skeâ DeeÙeele efÛe$e Éeje efvecveefueefKele ceW mes efkeâmes Øeehle efkeâÙee

pee mekeâlee nw ?

(De) DebkeâieefCeleerÙe ceeOÙe

(ye) iegCeesòej ceeOÙe

(me) ceefOÙekeâe

(o) yenguekeâ

Q. 15. Which of the following is the property of median ?

(a) It is simple to calculate

(b) Its determination is not based on all

observations

(c) It gives least importance to mid values

(d) The sum of absolute deviations from median

is least

efvecveefueefKele ceW mes keâewve–mee iegCe ceefOÙekeâe keâe nw ?

(De) Fmekeâer ieCevee Deemeeve nw

(ye) Fmekeâe efveOee&jCe meYeer Øes#eCeeW hej DeeOeeefjle veneR nw

(me) Ùen ceOÙeceeveeW keâes keâce mes keâce cenlJe oslee nw

(o) ceefOÙekeâe mes efvejhes#e efJeÛeueveeW keâe Ùeesie efveefcve‰ neslee

nw

Q. 16. When the coefficient of skewness is zero, the

shape of the curve is :

(a) Symmetrical

(b) J - shaped

(c) L - shaped

(d) W - shaped

Ùeefo efJe<ecelee iegCeebkeâ MetvÙe nw lees Je›eâ keâe Deekeâej nw :

(De) meceefcele

(ye) J - Deekeâej keâe

(me) L - Deekeâej keâe

(o) W - Deekeâej keâe

Q. 17. Which one of the following methods is

appropriate to study the prevalence of AIDS

amongst male and female in India in 1989, 1999,

2009 and 2019 ?

(a) Quota sampling

(b) Systematic sampling

(c) Stratified sampling

(d) Cluster sampling



(11) (12)

W-135(B) P.T.O. W-135(B)

Yeejle ceW Je<e& 1989, 1999, 2009 leLee 2019 ceW heg®<eeW leLee

ceefnueeDeeW ceW S[dme kesâ Øemeej keâe DeOÙeÙeve keâjves nsleg

efvecveefueefKele efJeefOeÙeeW ceW keâewve-meer Skeâ efJeefOe GheÙegkeäle nw ?

(De) keâesše efveoMe&ve

(ye) JÙeJeefmLele efveoMe&ve

(me) mleefjle efveoMe&ve

(o) mecetn ØeefleÛeÙeve

Q. 18. A comprehensive full report of the research

process is called :

(a) Thesis

(b) Article

(c) Abstract

(d) Summary report

MeesOe Øeef›eâÙee kesâ efJemle=le hetCe& ØeefleJesove keâes keânles nQ :

(De) Leerefmeme

(ye) uesKe

(me) meejebMe (meej)

(o) meejebMe efjheesš&

Q. 19. The format of thesis writing is the same as in :

(a) A research dissertation

(b) Presenting a workshop

(c) Preparation of an article

(d) Writing of seminar representation

Leerefmeme uesKeve keâe Øee™he "erkeâ Jener nw pees :

(De) Skeâ MeesOe efveyevOe / ef[pešxMeve keâe

(ye) Skeâ keâeÙe&Meeuee Øemlegle keâjves keâe

(me) Skeâ uesKe lewÙeej keâjves keâe

(o) mebiees‰er Øemlegefle kesâ efueKeves keâe

Q. 20. Bibliography means :

(a) Foot note

(b) Biography

(c) Glossary

(d) List of books referred

«ebLeJe=òe keâe DeLe& nw :

(De) heeošerkeâe

(ye) peerJeveJe=òe

(me) Meyo keâes<e

(o) meboefYe&le hegmlekeâeW keâer metÛeer

Q. 21. If we denote :

(i) Data collection

(ii) Data analysis

(iii) Introduction

(iv) Conclusion and recommentation

then the correct order of the core elements of a

dissertation is :

(a) (iii), (i), (ii), (iv)

(b) (iii), (ii), (i), (iv)
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(c) (iv), (iii), (ii), (i)

(d) (iii), (ii), (i), (iv)

Ùeefo nce efve™efhele keâjW :

(i) mecebkeâ meb«en

(ii) mecebkeâ efJeMues<eCe

(iii) ØemleeJevee

(iv) efve<keâ<e& SJeb efmeheâeefjMe

lees ef[pešxMeve kesâ cetue lelJeeW keâe mener ›eâce nw :

(De) (iii), (i), (ii), (iv)

(ye) (iii), (ii), (i), (iv)

(me) (iv), (iii), (ii), (i)

(o) (iii), (ii), (i), (iv)

Q. 22. Which of the following approaches says that

eithical issues should be judged on the basis of

some universal code ?

(a) Denontological

(b) Ethical skeptism

(c) Utilitarianism

(d) None of the above

efvecveefueefKele ceW mes keâewve mee Âef°keâesCe keânlee nw efkeâ veweflekeâ

cetuÙeeW keâe efveOee&jCe efkeâmeer meeJe&Yeewefcekeâ keâes[ kesâ DeeOeej hej

nesvee ÛeeefnS ?

(De) veerefleMeeŒe

(ye) veweflekeâ mebMeÙeJeeo

(me) GheÙeesefieleeJeeo

(o) Ghejesòeâ ceW mes keâesF& veneR

Q. 23. Which of the following is an "intellectual property"

as per IPR laws in India ?

(a) Original literary work

(b) Industrial design of Maruti Suzuki, SL-6

(c) Trade mark of air India

(d) All of the above

Yeejle ceW DeeF&.heer.Deej. keâevetveeW kesâ Devleie&le efvecveefueefKele ceW

mes keâewve-mee ‘‘yeewefækeâ mecheoe’’ nw ?

(De) cetue meeefneflÙekeâ ke=âefle

(ye) cee®efle megpegkeâer SL-6 keâer DeewÅeesefiekeâ ef[peeFve

(me) SÙej Fbef[Ùee keâe JÙeeheej efÛevn

(o) Ghejesòeâ meYeer

Q. 24. Fixation is an essential element of :

(a) Copyright

(b) Trademark

(c) Patent

(d) Design

efveOee&jCe efvecveefueefKele ceW mes efkeâmekeâe DeeJeMÙekeâ lelJe nw ?

(De) keâeheerjeFš

(ye) š^s[ceeke&â

(me) hesšWš

(o) ef[peeFve
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Q. 25. Plagiarism can not be detected by :

(a) Turnitin

(b) Ithenticate

(c) Scopus

(d) None of the above

efkeâmekesâ Éeje meeefneflÙekeâ Ûeesjer keâe helee veneR ueieeÙee pee

mekeâlee nw ?

(De) šdÙetjefveefšve

(ye) SLesefvškesâš

(me) mkeâesheme

(o) Ghejesòeâ ceW mes keâesF& veneR
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